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Piorage speedl= Vo, = /2 bm 3
Distanee = 5§ = 360 M,
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Griven Datai-
Vi = 5(4 V’W\\’\J

sY Xx10060
'_’_____/——-H‘
2600

)
wmSs

—

o 2
Vi = & ms

25 m

—
—

-
O ms



https://v3.camscanner.com/user/download

2.7:- A glone is o\rodopd Pem o hei ght
6FUSwm. Now Long will 1% take o reach
the 6rol)\\d? What will be its UL\od{y

Just belore U‘H“mﬂ the abouv\)?,
G)iVOh DQ*Q‘.\

q - USm
|
Vi = Omg

@" = |0 m\'Sq

To Find:-

Vi - 1
?

_t/ ~ -
Soludion-

/’O -fju,a( V'f wie \n¢ gbo\ @fl&ﬂ]{?o“

245 = Vi -\’
2(o)lus)= % -~ ©
2
Qo0 <= Vg



https://v3.camscanner.com/user/download

N ow, @

Mo fjiha\ Tme T we e f"%agm_

\){: = Vi *\'%JC
a0 = Ot lot
%0 = \0+
PIN®)
L = -
1o

2.8 & cov bravels lo¥km with on averagt
\/0\00&'3 ok 20ms Then it travels in the

Sorne i veckion theough, a diversion ot <
onexage ve locity 4 Y Por the next 0.8kn
e for the

Determine the overagt velocity o
Lotal jovyney.

Given Dadar-
Sy = |O%m = 10,000m
| | |


https://v3.camscanner.com/user/download

To Find.:. - K

Vay = V
SolUHoh:—
V G IR —
’ t, + %2 *
fist find  Lime % I
‘};1 = f"_’i
Vi
J'/.1 = _’\PL?E_E = 5005
9 ©
4, = ..:S—z— £ ‘
Vo
t1 = ._8,,99/ e L00F
) okl .
N ow, V@\Ou&c‘a&‘ W W
40,000 800 1S MU s begov'@

Vav = Wo »\A%JCW"S the %%OU\\A.

10§00

PR Ave
\ 100 -E


https://v3.camscanner.com/user/download

29- A bl s olroppd ffo”‘ the top o} , @
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2.10:-f CY‘QM \oAU W Wt 90 'f:"\a.f 1 +%@
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